i PR — o~ —
=By °C =590 °*C p=300. Bar

~m=332kg/s + =%90°C P:2mb

=600 °C
r

p=70 bar

Benson
kedel

p=10 bar
=310 °C

,

HT-forvarmere

Fedepumpe

<

<¢

Gas:
264 MJ/s

wym=114 kg/s

4 h=3235 kJ/kg
m=13 kg/s

Q)

<

=12 kg/s

h=2860 kd/kg
=15 kg/s

p=0,6 Bar

S

=% bar

Pg6b

u2y

x=0,96

p=0,025 bar
m=2 kgfs

0007 fel
arsxdstg °¢

UMW BSYO13)SOMUDSBA]

" p=0,020 bar

m=262 kg/s

afgang

Fjernvarme|veksler
¥ h=375 kJ/kg

tilgang

m=26 kg/s

m=77 kg/s

LT-forvarmere

Gasturbine

/lf—]

o A

/l/__J

73 MJ/is

25 MJ/s

Afgaskedel

23 MJis

>

v

h=2610 kJ/kg

h=2580 kJ/kg | ™2 kafs

m=0 kg/s

SIRUDYSEIA


Mads
Text Box
t=590 °C

Mads
Text Box
p=300 Bar

Mads
Text Box
p=0,6 Bar




